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UNIT 2: THE PERIMETERS AND AREAS OF
TWO-DIMENSIONAL FIGURES

After completing this topic, you will be able to:
1. Know what a perimeter is

2. Calculate the perimeter of a

a. Rectangle

b. Square

c. Triangle

d. Circle (circumference)
e. Trapezium

f. Parallelogram
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UNIT 2: THE PERIMETERS AND AREAS OF
TWO-DIMENSIONAL FIGURES

EXERCISE 2.3

Use the = — key on your calculator

File all your work behind this page.

1.
a = 6518cm; ¢ = 91em

Calculate the

a i N :‘ perimeter.
c

2.
a = 46 mm; c = 95 mm
Calculate the

a i h ; perimeter.

3.
a = 46,74 mm; ¢ = Blmm

Calculate the

a i‘ " ; pernimeter.
c

4,

a = 51,53mm; ¢ = B3 mm

I

Calculate the perimeter.

N

5. G.
al = 89 ecm; a2 = 47 cm; al = 80 cm; a2 = 43 cm;
bl = 66,04 cr; b2 = 50.01 cm bl = 65,6 cm; b2 = 52,09 cm
Calculate the > Calculate the
2 perimeter. perimeter.
b h b2
b h b2
a1l
a1l
T. 8.
al = 87 cm; a2 = 30 cm; al = 949 mm a2 = 42 mm
bl = 60,32; cm; b2 = 61,83 cm bl = 71,3mm; b2 = 56,55 mm
> Calculate the > Calculate the
perimeter. perimeter.
b h b2 b h b2
a1l al
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9.

a=87cm; b = 49cm; ¢ = 9985 cm

10.

a = 47 mm; b = 66mm

Calculate the Calculate the perimeter.
b c perimeter. b b
a a
11. 12.
§ = H8mm 5 = 62 mm
Calculate the perimeter. Calculate the perimeter.
s 5 -] ]
s 5
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SOLUTION

Use the = — key on your calculator

File all your work behind this page.

1.

a = 6518Bcm; ¢ = 91cem

2.

a = 5446 mm; ¢ = 95 mm

Calculate the Calculate the
a perimeter. a h perimeter.
c c
3 4.
a = 46,74mm; ¢ = B0 mm a = 5153mm; ¢ = B3 mm
Calculate the Calculate the perimeter.
a perimeter.
a h
[
[
5. 6.
al = 89cm; a2 = 47 cm; al = 80cm; a2 = 43 cm;
bl = 66,04cm; b2 = 50.01cm bl = 65,6 cm; b2 = 52,09 cm
Calculate the Calculate the
perimeter. perimeter.
b1/ |n b2
b h b2
at
at
7 8.
al = 87 cm; a2 = 30 cm; al = 949mma2 = 42mm
bl = 60,32; cm; b2 = 61,83 ¢cm bl = 713mm; b2 = 56,55 mm
Calculate the Calculate the
2 ‘ a2 '
perimeter. perimeter.
b h b2 b h b2
al al
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9.
a=87cm; b = 49ecm; ¢ = 99,85 cm

Calculate the
pernimeter.

10.
a = 47mm; b = 66mm

Calculate the perimeter.

Calculate the perimeter.

12.
5 = 62mm

Calculate the perimeter.
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